
 

Branch Office : In Front of D.J. Hostel, Church lane, Near Anand Bhawan Prayagraj 

Head Office : 2/39 Vijay Nagar, Near University of Delhi, New Delhi – 110009. 
Contacts:- 9911689985, 8285162819  

  



 

Branch Office : In Front of D.J. Hostel, Church lane, Near Anand Bhawan Prayagraj 

Head Office : 2/39 Vijay Nagar, Near University of Delhi, New Delhi – 110009. 
Contacts:- 9911689985, 8285162819  

 

1.  फॉस्फाइड आयन (P
3–

) में इलेक्ट्र ॉन, प्रोटॉन और नू्यटर ॉन 

की संख्या है– 

(a) 15, 15, 16 (b) 15, 16, 15 

(c) 18, 15, 16 (d) 15, 16, 18 

1.  The number of electrons, protons and 

neutrons in phosphide ion (P
3–

) is– 

(a) 15, 15, 16 (b) 15, 16, 15 

(c) 18, 15, 16 (d) 15, 16, 18 

 

2.  नू्यक्लाइड्स : 

(a) विविष्ट परमाणु क्रमाांक हैं 

(b) प्रोटॉन की सांख्या समान है 

(c) विविष्ट परमाणु सांख्या और द्रव्यमान सांख्या है 

(d) आइसोटोप हैं 

2.  Nuclides : 

(a) Have specific atomic numbers 

(b) Have same number of protons 

(c) Have specific atomic number and mass 

numbers 

(d) Are isotopes 

 

3.  परमाणु बम विस्फोट में वनकलने िाली ऊर्ाा मुख्यतः  

वकसके कारण होती है? 

(a) नू्यटर ॉन की ररहाई 

(b) इलेक्ट्र ॉनोां की ररहाई 

(c) प्रारां विक सामग्री की तुलना में उत्पादोां का अविक 

द्रव्यमान 

(d) प्रारां विक सामग्री की तुलना में उत्पादोां का कम द्रव्यमान 

3.  The energy released in an atom bomb 

explosion is mainly due to 

(a) Release of neutrons 

(b) Release of electrons 

(c) Greater mass of products than initial material 

(d) Lesser mass of products than initial material 

 

4.  यवि वकसी हाइडर ोर्न परमाणु में nिी ं बोह्र कक्षा में 

इलेक्ट्र ॉन की डी–ब्रोगली तरंग िैर्ध्ा 1.5 πa0 (a0 बोह्र 

विज्या है) के बराबर है, तो n/Z का मान है 

(a) 1.0 (b) 0.75 

(c) 0.40 (d) 1.50 

4.  If the de–Broglie wavelength of the electron 

in n
th

 Bohr orbit in a hydrogenic atom is 

equal to 1.5 πa0 (a0 is Bohr radius), then the 

value of n/Z is 

(a) 1.0 (b) 0.75 

(c) 0.40 (d) 1.50 

 

5.  परमाणु के नाविक में नू्यटर ॉन के प्रिेश से पररितान 

आएगा 

(a) परमाणु सांख्या 

(b) परमाणु द्रव्यमान 

(c) परमाणु की रासायवनक प्रकृवत 

(d) इलेक्ट्र ॉन की सांख्या 

5.  The introduction of a neutron into the 

nucleus of an atom would lead to a change in 

(a) Atomic number 

(b) Atomic mass 

(c) Chemical nature of the atom 

(d) Number of electron 

 

6.  
आइसो–इलेक्ट्र ॉवनक प्रर्ावतयो ंका आकार Cl¯, Ar और 

Ca
2+

 से प्रिावित होता है 

(a) िैलेंस िेल की अजीमुथल क्ाांटम सांख्या 

(b) बाहरी कक्षाओां में इलेक्ट्र ॉन–इलेक्ट्र ॉन सांपकक  

(c) िैलेंस िेल की प्रमुख क्ाांटम सांख्या 

(d) परमाणु प्रिार 

6.  The size of the iso–electronic species Cl¯, Ar 

and Ca
2+

 is affected by 

(a) Azimuthal quantum number of valence shell 

(b) Electron–electron interaction in the outer 

orbitals 

(c) Principal quantum number of valence shell 

(d) Nuclear charge 

 

7.  39

19 K और 
40

20C  हैं 

(a) आइसोमसक  (b) आइसोबसक 

(c) आइसोटोन  (d) आइसोटोप 

7.  39

19 K and 40

20C  are 

(a) Isomers (b) Isobars 

(c) Isotones (d) Isotopes 

 

8.  नू्यटर ॉन एक मूलिूत कण िाहक है 

(a) +1 इकाई का आिेि और एक इकाई का द्रव्यमान 

(b) कोई आिेि नही ां और एक इकाई का द्रव्यमान 

(c) कोई आिेि नही ां और कोई द्रव्यमान नही ां 

(d) –1 इकाई का आिेि और कोई द्रव्यमान नही ां 

8.  Neutron is a fundamental particle carrying 

(a) A charge of +1 unit and a mass of one unit 

(b) No charge and a mass of one unit 

(c) No charge and no mass 

(d) A charge of –1 unit and no mass 
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9.  आिता सारणी के िीर्ा रूप में तत्ो ंके गुण उनका आिता 

फलन होते हैं 

(a) परमाणु आकार  (b) आयनीकरण ऊर्ाक 

(c) परमाणु द्रव्यमान  (d) परमाणु सांख्या 

 

9.  In long form of periodic Table the properties 

of the elements are a periodic function of 

their 

(a) Atomic size (b) Ionization energy 

(c) Atomic mass (d) Atomic number 

 

10.  एक प्रर्ावत में इलेक्ट्र ॉन, नू्यटर ॉन और प्रोटॉन की संख्या 

क्रमशः  10, 8 और 8 के बराबर है। प्रर्ावत का उवित 

विन्ह है 

(a) 
16

8O (b) 
18

8O 

(c) 
18

10Ne (d) 
16

8O
2–

 

10.  The number of electrons, neutrons and 

protons in a species are equal to 10, 8 and 8 

respectively. The proper symbol of the 

species is   

(a) 
16

8O (b) 
18

8O 

(c) 
18

10Ne (d) 
16

8O
2– 

 

11.  मोसले के अनुसार आलेखन करने पर एक सीधी रेखा 

समूह प्राप्त होता है 

(a) तत्ोां की परमाणु सांख्या के विरुद्ध वििेषताओां एक्स–रे 

की आिृवि 

(b) तत्ोां की परमाणु सांख्या के विरुद्ध वििेषता एक्स–रे की 

आिृवियोां का िर्क 

(c) परमाणु सांख्या के विरुद्ध तत्ोां की वििेषताओां एक्स–रे 

की आिृवियोां का िर्कमूल 

(d) परमाणु क्रमाांक के विरुद्ध तत्ोां की वििेषताओां एक्स–रे 

की आिृवियोां का वु्यत्क्रम। 

11.  According to Moseley, a straight line group 

is obtained on plotting 

(a) The frequencies of characteristics X–rays of 

elements against their atomic numbers 

(b) The square of the frequencies of 

characteristics X–rays of elements against 

their atomic numbers 

(c) The square root of the frequencies of 

characteristics X–rays of elements against 

the atomic numbers 

(d) The reciprocal of the frequencies of 

characteristics X–rays of elements against 

the atomic numbers. 

 

12.  यवि परमाणु का थॉमसन मॉडल सही होता, तो रिरफोडा 

के सोने की पन्नी प्रयोग का पररणाम होता 

(a) सिी α–कण र्वत में कमी वकए वबना सोने की पन्नी से 

रु्र्रते हैं। 

(b) α–कण व्यापक कोणोां पर विके्षवपत होते हैं 

(c) सिी α–कण 180° तक िापस उछल र्ाते हैं 

(d) α–कण छोटे कोणोां से विके्षवपत होकर और कम र्वत से 

सोने की पन्नी से रु्र्रते हैं। 

12.  If the Thomson model of the atom was 

correct, then the result of Rutherford's gold 

foil experiment would have been 

(a) All of the α–particles pass through the gold 

foil without decrease in speed. 

(b) α–particles are deflected over a wide range 

of angles 

(c) All α–particles get bounced back by 180
o
 

(d) α–particles pass through the gold foil 

deflected by small angles and with reduced 

speed. 

 

13.  बामर श्रंखला के संबंध में सही कथनो ं को पहिानें: 

परमाणु हाइडर ोर्न के से्पक्ट्र म में प्रते्यक रेखा की तरंग 

संख्या को समीकरण 
 
 
 

H 2 2

1 2

1 1
ν = R -

n n
 विया गया है 

र्हां RH एक स्थथरांक है और n1 और n2 पूणाांक हैं। 

(i)  रै्से–रै्से तरांर् की लांबाई घटती है, शृ्ांखला में रेखाएँ 

स्थथर रहती हैं 

(ii)  पूणाांक n1, 2 के बराबर है 

(iii) हाइड्र ोर्न की आयनीकरण ऊर्ाक की र्णना इन रेखाओां 

की तरांर् सांख्या से की र्ा सकती है 

13.  Identify the correct statements regarding 

Balmer series: The wave number of each 

line in the spectrum of atomic hydrogen is 

given the equation 
 
 
 

H 2 2

1 2

1 1
ν = R -

n n
 where 

RH is a constant and n1 and n2 are integers. 

(i)  As wave length decrease, the lines in the 

series constant 

(ii)  The integer n1 is equal to 2 

(iii) The ionization energy of hydrogen can be 

calculated from the wave number of these 

lines 
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(iv)  सबसे लांबी तरांर् दैर्ध्क की रेखा n2 = 3 से मेल खाती है 

 

विकल्प: 

(a) (i), (ii) और (iii) केिल 

(b) (i), (iii) और (iv) केिल 

(c) (ii) & (iv) केिल 

(d) (ii), (iii) और (iv) केिल 

(iv) The line of longest wavelength corresponds 

to n2 = 3 

Options: 

(a) (i), (ii) & (iii) only 

(b) (i), (iii) & (iv) only 

(c) (ii) & (iv) only 

(d) (ii), (iii) & (iv) only 

 

14.  हाइडर ोर्न परमाणु में एक इलेक्ट्र ॉन के वनम्नवलस्खत में से 

कौन सा संक्रमण सबसे कम तरंग िैर्ध्ा का विवकरण 

उत्सवर्ात करता है? 

(a) n2 = ∞ to n1 = 1 (b) n2 = 4 to n1 = 3 

(c) n2 = 2 to n1 = 1 (d) n2 = 5 to n1 = 3 

14.  Which one of the following transitions of an 

electron in hydrogen atom emits radiation of 

the lowest wavelength? 

(a) n2 = ∞ to n1 = 1 (b) n2 = 4 to n1 = 3 

(c) n2 = 2 to n1 = 1 (d) n2 = 5 to n1 = 3 

 

15.  वकसी परमाणु के क्ांटम मैकेवनकल मॉडल का आधार है 

(a) इलेक्ट्र ॉन की कोणीय र्वत 

(b) क्ाांटम सांख्याएँ 

(c) इलेक्ट्र ॉन की दोहरी प्रकृवत 

(d) बै्लक बॉड्ी विवकरण 

15.  The basis of quantum mechanical model of 

an atom is 

(a) Angular momentum of electron 

(b) Quantum numbers 

(c) Dual nature of electron 

(d) Black body radiation 

 

16.  कण की डी ब्रोगली तरंगिैर्घ्ा है 

(a) इसके द्रव्यमान के समानुपाती 

(b) इसके िेर् के समानुपाती 

(c) इसकी र्वत के वु्यत्क्रमानुपाती 

(d) इसकी कुल ऊर्ाक के समानुपाती 

16.  The de Broglie wavelength of particle is 

(a) Proportional to its mass 

(b) Proportional to its velocity 

(c) Inversely proportional to its momentum 

(d) Proportional to its total energy 

 

17.  ni = 8 से nf = n तक परमाणु हाइडर ोर्न की उत्सर्ान 

रेखा के वलए, तरंग संख्या (v) के विरुद्ध 
 
 
 

2

1

n
 प्लॉट 

होगा (Rydberge स्थथरांक, RH संख्या इकाई में है) 

(a) रै्र रेखीय 

(b) ढलान के साथ रैस्खक – RH  

(c) ढलान RH के साथ रैस्खक 

(d) अिरोिन के साथ रैस्खक – RH  

17.  For emission line of atomic hydrogen from ni 

= 8 to nf = n, the plot of wave number (v) 

against 
 
 
 

2

1

n
 will be (The Rydberge 

constant, RH is in number unit) 

(a) Non linear 

(b) Linear with slope – RH 

(c) Linear with slope RH 

(d) Linear with intercept – RH 

 

18.  300 बटा 0.001% िेग से गवतमान एक इलेक्ट्र ॉन 

(द्रव्यमान = 9.1 × 10
–31

 वकग्रा) की स्थथवत में 

अवनवितता होगी 

(h = 6.63 × 10
–34

 J – s)  

(a) 19.2 × 10
–2

 मीटर (b) 5.76 × 10
–2

 मीटर  

(c) 1.92 × 10
2
 मीटर (d) 3.84 × 10

–2
 मीटर  

18.  Uncertainty in the position of an electron 

(mass = 9.1×10
–31

 kg) moving with a velocity 

300 upon 0.001% will be 

(h = 6.63 × 10
–34

 J – s)  

(a) 19.2 × 10
–2

 m (b) 5.76 × 10
–2

 m 

(c) 1.92 × 10
2
 m (d) 3.84 × 10

–2
 m 

 

19.  कौन सा कथन ग़लत है? 

(a) s–कक्षक में इलेक्ट्र ॉन की कुल कक्षीय कोणीय र्वत िून्य 

के बराबर है। 

(b) एक कक्षक को तीन क्ाांटम सांख्याओां द्वारा वनवदकष्ट वकया 

र्ाता है र्बवक एक परमाणु में एक इलेक्ट्र ॉन को चार 

क्ाांटम सांख्याओां द्वारा वड्जाइन वकया र्ाता है। 

(c) N परमाणु का इलेक्ट्र ॉवनक विन्यास है  

19.  Which one is a wrong statement? 

(a) Total orbital angular momentum of electron 

in s–orbital is equal to zero. 

(b) An orbital is designated by three quantum 

numbers while an electron in an atom is 

designed by four quantum numbers. 

(c) The electronic configuration of N atom is 
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(d) dz

2
 के वलए m का मान िून्य है 

 
(d) The value of m for dz

2
 is zero 

 

20.  वनम्नवलस्खत में से गलत कथन को पहिानें 

(a) सिी पाांच 4d कक्षक का आकार सांबांवित 3d कक्षक के 

समान है। 

(b) एक परमाणु में, सिी पाांच 3d कक्षाएँ मुक्त अिथथा में 

ऊर्ाक में बराबर होती हैं। 

(c) dxy, dyz और dxz कक्षक के आकार एक – दूसरे के 

समान हैं; और dx
2 – y

2 और dz
2 एक – दूसरे के समान 

हैं। 

(d) सांबांवित 4d कक्षक की तुलना में सिी पाांच 5d कक्षक 

आकार में विन्न हैं। 

20.  Identity the incorrect statement from the 

following 

(a) All the five 4d orbitals have shapes similar 

to the respective 3d orbitals. 

(b) In an atom, all the five 3d orbitals are equal 

in energy in free state. 

(c) The shapes of dxy, dyz and dxz orbitals are 

similar to each other; and dx
2 – y

2 and dz
2 

similar to each other. 

(d) All the five 5d orbitals are different in size 

when compared to the respective 4d 

orbitals. 

 

21.  वनम्नवलस्खत में से वकसे विन्यास [Kr]5s
2
 द्वारा िशााया र्ा 

सकता है? 

(a) Ca (b) Sr 

(c) Ba (d) Ra 

21.  Which of the following can be represented 

by the configuration [Kr]5s
2
? 

(a) Ca (b) Sr 

(c) Ba (d) Ra 

 

22.  वनम्नवलस्खत में से कौन सा आकार कक्षीय का िणान 

करता है? 

(a) प्रमुख क्ाांटम सांख्या 

(b) अजीमुथल क्ाांटम सांख्या 

(c) चुांबकीय क्ाांटम सांख्या 

(d) चक्रण क्ाांटम सांख्या 

22.  Which of the following describes the shape 

orbital? 

(a) Principal quantum number 

(b) Azimuthal quantum number 

(c) Magnetic quantum number 

(d) Spin quantum number 

 

23.  प्राकर वतक रूप से पाए र्ाने िाले पी-ब्लॉक तत्ो ं की 

संख्या र्ो प्रवतिंुबकीय हैं, है 

(a) 18 (b) 6 

(c) 5 (d) 7 

23.  The number of naturally occurring p–block 

elements that are diamagnetic is 

(a) 18 (b) 6 

(c) 5 (d) 7 

 

24.  कक्षक के संकरण के संबंध में वनम्नवलस्खत में से कौन सा 

सही नही ंहै? 

(a) केिल सांयोर्कता कोि में उपस्थथत कक्षाएँ सांकररत होती 

हैं 

(b) सांकरण से रु्र्र रहे कक्षकोां में लर्िर् समान ऊर्ाक होती 

है 

(c) सांकरण के वलए इलेक्ट्र ॉन का सांििकन आिश्यक ितक नही ां 

है 

(d) ऐसा हमेिा नही ां होता है वक केिल आांविक रूप से िरे 

हुए कक्षक ही सांकरण में िार् लेते हैं, कुछ मामलोां में 

सांयोर्कता कोि में िरे हुए कक्षक िी िार् लेते हैं 

(e) हाइविड् कक्षक की तुलना में िुद्ध परमाणु कक्षक स्थथर 

बांिन बनाने में अविक प्रिािी होते हैं 

24.  Which one of the following is not correct in 

respect of hybridization of orbitals? 

(a) The orbitals present in the valence shell 

only are hybridized 

(b) The orbitals undergoing hybridization have 

almost equal energy 

(c) Promotion of electron is not essential 

condition for hybridization 

(d) It is not always that only partially filled 

orbitals participate in hybridization in some 

cases even filled orbitals in valence shell 

take part 

(e) Pure atomic orbitals are more effective in 

forming stable bonds than hybrid orbitals 

 

25.  3p कक्षक में गोलाकार नोड्स की संख्या है/है 

(a) एक  (b) तीन 

(c) कोई नही ां  (d) दो 

25.  The number of spherical nodes in 3p orbitals is 

(a) One (b) Three 

(c) None (d) Two 
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